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i directly proportional

1 The deflecting torque of o moving iron (ype ammeler
o
(A)  Square root ol current (B) Cube of the current
(C)  Current (D)  Square of the current
2 MRl digsl %Rl UL sl Breeuri 2dd & 7
(A) dll (B) daLs
() 5% (D) ™3%
3 I kWh is equal to.
(A) 3600 Joule (B) 3600 Kilo Joule
(C) 36 Mega Joule (D) 36000 Kilo Joule
4 If the load power factor is zero lagging, the armature reaction effect in
case ol a three phase alternator will be :
(A) Magnetizing (B) Cross magnetizing
(C) De-magnetizing | (D) No effect
5 s g 2ys 3y Aaal 12% vz 24 8. dl a-udl eixell Bud duarl
s2dl 25l A5l Uy 7 ' |
(A) 24% (B) 88%
©) 76% (D) 112%
6 A triac 1Is basicaily a.
(A) 2 terminal switch
(B) 2 terminal bilateral switch
(C) 3 terminal unilateral switch
(D) 3 terminal bidirectional switch
7 Li,Oy+H,0(l)—
(A) [1OH (B) 2LiOH
(C) 3Li1OH (D) 4LiOH
AEE (152) B | | 2 | Contd
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S The shunt capacitance of a transmission line is neglected only resistance
and serics inductance are considered. The voltage regulation of the

transmission line 18 zero, The power factor of the load connected at
receiving end of the line must be,

(A)  Unity (1)  Between 0 and 1 (leading)
(C)  Zero (D)  Between 0 and 1 (lagping)
0 The advantage ol corona is that, it results into,

(A) Increase in transients

(B) Corrosion of conductor

(C) Increase in etlective conductor size
(D) Hissing noise

10 90 [RAAL 24 Riyysd ol st o virad Hisal uyls 4% sidsld
Alrirl Hedd Hyletdl s 2edl vl e © 7

(A) 3. 30.000/- (B) 3. 75,000/-
(C) 3' ]!00-000/' (D) a. 50,000,‘

11  If the height of the transmission towers is increased, which of the following
statement is true in relation to the transmission line ?

(A) The line capacitance will increase but line inductance will decrease.
(B) The line capacitance and inductance both will increase.

(C) The line capacitance will decrease and line inductance will remain
the same.

(D) The line inductance will decrease and line capacitance will remain
the same.

¢

12 oisdsl 0 Hedll UL ¥Rl

(A)  GulHyeall (B) ARid-l ue
(Q -eleL wgd (D) syl dlal
13 - Which of the following 1S not a combinational logic circuit ?
(A) Half adder (B) Counter
(C) Full adder - (D) Full substracter

suring i ant is not provided with any controlling
- 1« C type measuring instrument 1S NO .
a :1\1621}:,:12/:f;m yIIJF a current of 1 Amp DC 1s passed through the coil, what

» - 4 . 5 t ?
] the reading of the Instrumen | |
2:1)] b; inter will' not move (B) Pointer will move 1o full deflection
olnte

(C) 1 Amp (D) 10 Amp

| [ Contd...
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3wl disdd Yoy Arscisd %Ll
N wlaul Wy dly.

(A) M W slumi g Adstad.
B) il wd st Qg AgHA B,
(©) A WA el g é@oﬂ.

(D) Rl el qlsg équ;

' . . (.'ﬂ . ' » OO v ]l
16  The amplitude of sum of two spusoidal AC voltages is"equal to | olt.

The amplitude of each individual AC voltage is also equal to 100 Voll.
What must be the phase difference between voltages 7

(A) 1200 — (B) 607
(C) 90" (T(D) This is not possible
N
&
17 AYHELZ I HIRdHL Sl zlwn[ﬁmc‘@ ¢y 7
(A)  BlRYS oY (®))  Hwueal
(C)  R1 g(n) (2TIE)

18 By increasing the number of c'@duclors in a _bundle of transmission line
- conductors, the sell GMD of the bundle.

(A) Increases g(B) Decreases

(C) Remains the same (D) None of the above
e
@)

19 I the two parallel conductors (ptaced nearer to each other carry currents
In opposite directions. there Wald be :

(A) Foree of repulsion between them
(B) Force of attraction betwgen them
(C) No force between them g

(D) None of these -

-
H

20  For the same value of active pgyver consumption at the receiving end of
a feeder, if the power factor at ggceiving end decreases, the copper losses

in the feeder will, Qo

(A) Increase

(B) Decrease

(C) May increase or decrease

(D) No relation between feeder copper losses and power factor

AEE (152) B -
(152) B | 4 ' | Contd...
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21 Which of the following relays has inherently a directional characteristic ?
(A) Over current relay (B) Differential relay
}—i -
(C) Impedance relay (9} Mho relay
N
-
22 Yl Mdldl Ye syl AH eng(ldl ég?
(A) 8l (B 518l |
N
(C) Y8l (D) o1t
23 The corona loss depends on whicL of the following parameters ?
(A) Size of the conductor (B) Frequency of supply
(C) Atmospheric conditions (@’ All of the above
S
. . @
24 The basic requirement of a DC maghine armature winding is that it must
be, N
(A) Open winding (ﬁ? Lap winding
(C) Closed winding (D) Wave winding
—_
| N
N\
25 As dllgd uledl w2 Y fy, =%O, X=6 dl n= _ i
(A) 380 (g 40
(C) 60 B) 100
Q0
26 Following transformation is used to transform the equations of the system-
from frequency domain to time domain.
(A) Laplace Transform @ Inverse Laplace Transform
(C) Clerk's Transtormation ([Ié) Park's Transformation
-
27 <12 AU woeHl WAL ({1 Ql";"ﬂllcﬂ.
N
MUY -
(A) 24 (B) ydo
(C) M[2uR (D) 13l
AEE (152) B | S - | Contd...
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o rated voltage is applied to @ single

28 [f DC voltage having magnitude cqual t . ¢
what will happen -

phase .transformer in place of the rated AC voltage,
(A)  Primary winding will burn out

(B) Sccondary winding will burn out

(C) Very high voltage on the secondary side

(D) No problem with the transformer

29 Two parallel DC shunt generators will share the load in proportion 10

their KW output ratings only il they have the same.

(A) Voltage regulation (B) Raled voltage
(C) Armature current (D) Both (A) and (B)

30 lA 2NA davel Aosd Qe 3u [aseysidl Alkl.

ULEL
) el (B) &+
(C) s (D) A&Y

31 Economizer is used in thermal power stations in order to,
(A) Reduce the initial cost of the plant
(B) Reduce the pollution
(C) Improve the efficiency of the plant

(D) Improve the power [actor of plant

32 oYOIAHL A wMIel dedl 25l Sl © 7
™M) 55 o 65% -~ (B) 10 4l 40%
(C) 80 dl 90% (D) 0 4l 30%

33 The air gap flux density of a three phase induction motor is generally kept
low 1n order to,

(A) Improve the power factor (B) Decrease the vibrations

(C) Reduce the machine cost (D) All of the above

34 The copper loss of a single phase transformer at 75% of full load is
900 Watt. The copper loss of the same transformer with rated load will be :

(A) 1800 Watt (B) 1600 Watt
" (C) 900 Watt (D) 8100 Watt
AEE (152) B | .6 | Contd...
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36

38 The operating principle of a capacitor start r:md run type single phase
duction motor is very similar to the following molor.
(A) AC series motor (B) Commutator motor
(C) Two phase motor (D) Synchronous motor
39 The number of feeders through which each load gets supply In case of
"a ring main type distribution system 1S
(A) One (B) 'Iwo
(C) ‘Three (D)' Four
40 3%RUd AR gL ABULES 2 8RS uBid 2l [\qa}a[[z»ﬂ-l ’-ﬂ?%.&l.dl
nelbloit quiR szl AR dedl sl salalld 2Ma 21 B
(A) 3. 20,000/ (B) 3. 23.000/-
(C) 3. 30.000/- (D) 3. 35.000/-
41 The power factor of a iransformer operating at No load may be nearer
10,
(A) 0.8 (B) Unity
(C) 0.95 (D) 0.2
Contd...
AEE (152)_B | 7 [
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Change the voice :
| am to lecarn music. l

[usic wi carnt by me.
(A) Music is learnt by me. (3) Music was 10 lca )

(C) Music 1s to be learn by L. (D) Music 1S to be Ilcarnl by me.

ol HiglRrul Al U Aalecustz/slid Gurn © 7
(A) Yl adHi Al B) olaeus dlae ALY

) wfieoud dlarie we (D) s el BULY

MS PowerPoint ¥l Ctrl + E NSs2 4l Gudlel 8 sl sl 12
iy 7

(A)  aviell 92 2lsadl W2 (B) et dsuule sl M

(C) auerl A-ag 9l e (D) Aol §-ASd sral e
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42 3 af udai wia Ao As goedl wruy Gz 17 a edl. geoil g
o015 il B9di F3oi{l w1 GHR clealdl e, dl -dl gl oitos-l

sl GHR 32l €ly 7
(1

(A)N) aY (B) 1.5 ad
-

Q) =2 ad (D) 3 ad
ra |

O)
43 The(saving in copper achieved by converting a two winding transformer

intol&h auto transformer is primarily decided by.
(A) Load on the secondary

(B) !__(\.“ross section area of the core

(C) ( Aransformation ratio

(D) @aterial ol the core '

a

44 In @alanced Wheatstone bridge, if the positions of galvanometer and
source; are interchanged. what will happen ?

(A) “Galvanometer will show positive deflection
(B) Galvanometer will show zero deflection
(C) I_Qalvanmneter will show negative deflection

(D)UPointer will oscillate about zero position

N
O

45 wﬁg syl vlel yenetd aldl Risewdidl Wi uuy oY)
AU Dadl sd).

(U

(A) sl (B)

(C) -l (D) +
i

46_ T'hecggnvertor which converts fixed DC voltage into a variable DC voltage

1S kinown as,

(A)é&lmppcr (B) Cyclo-converter
(C) Nnvertor (D) Rectifier
o)
_U'l
47  Spria@ has spread mantle of green over the earth
(A) her (B) hise
(C) 1t's (D) their
AEE (152) B | 8
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48 When DC voltage 1s applied to a series RL circuit. in steady-state condition,

ideal inductor will behave as.

(A) Open circult (B) Large inductive reactance

(C) Short circuit (D) \Zéry large resistance

. A

gh

L .‘!". L lor
19  To obtain n-type semiconductor, the impurity added to a pure semiconduc

IS i
(A) Trivalent (B) 'E%}ravalenl
(C) Pentavalent (D) None of the above

50 -tiad sfA Ad-uxidl sy es aud eq 7

(A)  ®aag2lldl (B) ;{t{_eﬂeu
(C) wAudlal Q) [j‘-.(jla[ldl

. e & .
51 Binary equivalent of the decimal number 359

- -l

(A) 0100011 (B) 1000101
(C) 1001011 (D) 110001

52 [ugy dlgsl dud Aol sl Predil A & ¢
(A) wHeldle (B) YR
() wesl (D) UBs2

-
"h-—'

53 Which of the following is most suitablc. for measurement of very low

-

-

resistance ?

f .
(A) Wheatstone bridge (B) @wacns bridge
(Q Kelvin's bridge (D) Hay's bridge

54 A three phase induction motor is started with an autotransformer starter
with 75% of rated voltage. The ratio of starting torque with autotransformer

starter by starting torque with DOL stagter 1S

(A) 9/16 (B) ifi
(C) 16/9 (D) 44
o
N
55 =l Al O
ag + ARA oo
(4) ueallRA (B) w2l
(C) udulRA (D) AAURAY
| ‘ td...
AEE (152) B | 9 | Con
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- oted in series across d
56 Two lamps of 40 Watt, 230 Volt rating arc L‘t'HII'I‘L.LlLd in lhl:l L
230 V supply. The total output ol the combination will be
(A) 80 Watl (3) 10 Wall
(C) 20 Wal - (D) 40 Wall

57 olRd-l ¥vy 2ol sfard i el
(A) dl. 2. dud (B) H M5l RAdd

() YMad AR (D) 2. AY. 68l
58 HVDC transmission line is passing through which of the following districts
of Gujarat ?
(A) Bh:.wnagar (B) Rajkot
(C) Banaskantha (D) Bharuch

59  Consider a pure resistive heater. The output power of the heater is 1 kW.
[l it is 1o be operated with a supply voltage of 250 Volt. its resistance
should be, |
(A) 62.5 Ohm (B) 125 Ohm
(C) 31.25 Ohm | (D) 10 Ohm

60 Al 5§ YUl Gualal s34 s Wl 233 5154 g 53

usly & 7
(A) Disk Cleanup (B) Clean Disk
(C) Disk Eraser (D) Disk Clear

61 The principle of parallel resonance in AC circuits is used in following
application : )
(A) Arc welding (B) Room heater
(C) Induction furnace (D) All of the above

62 Give synonym of 'Defeat’
(A) Beal (B) Conquer
(Q) Both (A) and (B) (D) Depend

63 Time constant of a series RL circuit is equal to

(A) R/L (B) L/R
(C) R'?’/L | (D) LE /R
AEE (152) B | 10
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. ‘ )
Which of the following is used as @ voltage regulator

(A) PN Junction diode (B3) Zener diode
(C) SCR (D) Triac

) L 518\
A, voga sl wiensul ‘dl >y UVl ‘voLt v gAle
54l 7

(A) 3 Waldu (B) olga qaldul
(C) 38l [aadl (D) yul yld

Decimal equivalent of a binary number 1010111 s :
(A) 71 (B) 77
() 87 (D) 89

03 ealad Resl @ A3 A,

a

(a) yd-ulad-ale (1) 2{_:{ C
(b) HRAY iy detatd % s-l-faelg G it iRladl edl (2) - 85¢
(€)  “‘mun druHid M eanl Ayl BESL W (3) Ale &5

56l ORISR AN W 8. ...
(d) RakRausdl v [aaueed a2l 2oy suladl  (4) Ao A

[y ‘
(A) a-1, b-3, d-4, c-2 (B) c-4, a-2, b-3, d-
Q) d-3. a-2, b-1, c-4 (D) b-2, d-3, c-4. a-1

. : - .
Which of the following is an integrating 1ype instrument
(A) Moving iron ammeler (B). Moving coil voltmeter

(C) Dynamomelter type wattmeter (D) Induction type encrgy meter

A three phase. 4-pole, 50 Hz. 415 volt induction motor runs al a speed
of 1440 rpm. The speed of rotating magnetic field produced by rotor current

with respect to stator musl be :

(A) 1500 rpm (B) 1440 rpm

(C) 60 rpm (D) 120 rpm
70 {3 wda il uerl gEd-dl R ofR1lal.

"y west avll Aatd M- LY.
(A) addltsed (B) thq?igafl
(Q ®fdstd (D) ™Mlawsed
Contd...
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arallel. What is the

are connected 1M P

71  Three resistors 30 Ohm each B
mbination :

equivalent resistance of the parallel co

b=t
(A) 10 Ohm (B) ;70 Ohm

(C) 90 Ohm (D)3 Ohm
-

- .
Al GHR-
72 wisousl siadl Guz 52 ad . § afugl dull 2 dudl Y2

Aall 75 aY Ydl €ld dl Y-l eu@l Gu: Wl

M) 7 ad 8)%23 ad
(C) 60 ay (D) 75 aM
}-—-‘ .
73 Which of the following power plantsl(élm be started and stopped quickly
as per the load requirement ? -
(A) Thermal power plant (B)g\luclcar power plant
(C) Combined cycle power plant (Q)Hydro power plant
U

Q0 ;
74 A 2-Pole DC generator is running at 1500 rpm. The frequency of induced

EMF in the armature winding of the generator is.

(A) 25 Hz (B)—50 Hz
; & _
(C) 100 Hz (D)PSI2.5 Hz
-

75w (MY dre’ Yl aUHlw- @iﬂ Gy Gl 21 wdl. 21l YdsHl
AR wqale () sdl. U yx:as sdl Ul owudg & ?

-y
(A) MEl™R - (B)RicdlAne
(C) AUEHI4-L | (R) Aaley

76 The flux per pole of a DC machinas 20 milli-Weber. Neglecting the
leakage, the flux in the yoke section s :

(A) 10 milli-Weber (B)g.zo milli-Weber
(C) 40 milli-Weber ' (D)~S milli-Weber
o)
. r ('rl
77 s WU M WYt A AR Ul s vy ) ?
) 94sl QA (B) 2. H-lex-
(C) d. AA. yleq (D) el Riy
AEE (152) B | 12

C .
Downloaded from www.marugujarat.in [ Ontd_"'



www.marugujarat.in

: ers hich of the following
78  The critical resistance of a DC machine refers to which ol H

component 7

ature winding
(A) Load oy (m ﬁ‘ulmmlmr. :lln'l. \
(C) Commutator (n (D) Field winding
N
79  The unit of admittance 1s :g
(A) Coulomb s (B) Henry
(C) Mho 8}1 (D) Watt
o
g0 -3 widal Rsadai sl e il Al d rudl.
) [Rald . B) MM
(C) vl (nn (D) al
| N

81 The capacitance of a para]lq?plale capacitor 1S inversely proportional to,
(A) Area of the plates €= (B) Distance between the plates

QY
(C) Permittivity of the mediym (D) All of the above

QO
82 Fill in the blank :
The train runs ﬁew Delhi and Lucknow.
(A) among Ny (B) on
O
() between - —~ (D) amongst
M=
83 Temperature co-cfficient of repistance In case of insulating materials 1s:
(A) Positive GO (B) Negative
(C) Zero | (D) Very large positive value
}_l

. A
84 Inductance has the dimensigns of,

(A) Voltage/current & (B) Flux/reluctance

(C) Flux/current g (D) (Voltage)*/current
m |
85  s[A wHMAL ¥-HRUY n&nc&%& el %o AHA Ul Al el
wldgd g !
(A)  sely R PR
(C) 2PUYR (D) lue{layr
AEE (152) B | 13 [ Contd...
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cessary 1O make.

istor. it 15 NE
thyristor, I

86 In order to turn-OFF a iy - iding cU

(A) The anode current less th
(B) The gate current Zero
(C) The gate voltage ze€ro

r ¢
- Qver voltag
(D) The anode voltage less than the break

- " ?
- e weaai wd ©
g7 dlu ¥#l [eay (National Securty Day) s413 *-il
(A) 12, Q¥R (B) 14. °§rl
) 4w D) 21. 2B

™ - |')
- - S !
, . 1 af the ving application
88  [IVDC transmission 1S suitable for which of the following app

(A) Long distance bulk power transmission

(B) Underwater cables |
(C) Asynchronous connection between TWwo orids
(1))  All of the above

ad with ideal three phasc sinusoidal

80 In case of a balanced three phase o _ _ p
quse of the following.

AC supply. we do not require a neutral wire bec
(A)  Color of the wires (3)  Frequency
(C) Phase dilference (D)  Amplitude

00 12 BUUA Q1AL d12d A MHIPL T4l

el 39 A Y & !
(A) wtan 39 wwa Audl edl.  (B) wuadl 59 #z2

(C) wisuell 34 wa Ay ! oA wuawEl 34 wiw oA @ |

'
w
g —
A
F
A,
F

91 Neglecting the armature reaction effect. if the excitation of a synchronous
motor running at a constant load 1s increased. 1ts torque angle must.
(A) Increase (B) Remain the same
(C)  Decrease (D) Become twice the original value

92 MS Word s16d wise-at 3 €lu 8 7 .
(A)  .wor V) .doc
() .odt (D) .wr

93 In case of a four quadrant convertor. there should be
(A)  Iwo full convertors in series
(B) Two tull convertors connected back 10 back
(C)  Two full convertors in parallel

(D) Iwo semi convertors connected in parallel

AEE (152) B | 14
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and 'd" is the diameter of transmission

94 Let 't is the frequency ol voltage ith

line conductor. The corona loss in the line increases W
(A) Inerease in 'f" and decrease in 'd
(B) Increase in ‘I and increase in 'd
(C) Deerecase in 'l and deerecase in 'd’
(D) Decrease in 'l and increase in 'd

, 1214l
95 30 |23 Gl HlURL vl ol URAL UL waAuselL 45 9. dl i

Y 2k %24 sl !
(A) 40 ¥R (3) 30 #leR
(C) 60 2R (D) 20 Hl2R

96 Ferranti effect 15 observed in case ol the,

(A) Induction motor (B) Transmission lmg-:
(C) [Heater (D) Induction furnace
cate

97  Fill in the blank : | |
your friend. will guard your intercsts.

[. who
(A) are R) am
(C) was (D) has

inele ' s 5 eoq Ohm for
98 ‘The insulation resistance of a single core (Edb_lc is 50 l';f:q.glbr .
100 meter leneth. The insulation resistance of the same cabI€

of 200 meter 1S
(A) 25 Mega Ohm (B) 50 Mega Ohm
(C) 100 Mega Ohm (D) 200 Mega Ohm

: L e e
inducts ale cuit. the variable mechanic:
99 [n a three phase induction motor cquid alent cir

load is represented electrically by a variable,

(A) Resistor (B) Inductor

(C) Capacitor (D) None of the above

(00 aw6eAHE M2 Ng Usel il Rsew wie $U.
Deaitl ueq -

(A) '8dley (B) dlulH
(C) .G (D) 4y
- S td...
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